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We derived a Shleeshee from the Torah — FINT I W 11TRY

OVERVIEW

01 M, after citing a"'p from 27192 707 that there is a WTP2 *v°27, concluded that
we know there is a w72 w7w from a ?109, and we derive a wTpa *v°27 through a
1"?. Our Moo discusses the need to cite a P109.

- 201 9201 1IN 5P YNDY WYY YR 381 M1 XD XYY 1Y NN
It is preferable for °01° ' to cite a P1e2 (that there is a wp2a whw), but really *"
could have expounded that there is a wTIP% sw»w through a 1"'p from a1 2w,

mMooIN mentions s""wA differing view:
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But '"'w1 explained that the reason it was necessary for > to say 2w 172>

77077 3% is in order you should not invoke 197 -
7191909 99 S799917 BIUN 5191 1399 XY NNNN 11 191NYT XHWH YaN

However now that 771077 32 u5w 1729 we cannot invoke 17 because then you
would void the 1.

SUMMARY
The X n3 cites a P10 for *ww (instead of a 1"p) either because it is preferable
(M»doIn), or in order to avoid invoking 17 (°"wA)

THINKING IT OVER

Seemingly even according to >"w7 why did the X713 need to cite the 2109 in order to
avoid 177, even without the 105 since we know a w7p2 *w°%w from 21 7120, so if we
will say 17 (to the 3"mn 1"p) it will be 1"p To°n 218

! However there is no compelling reason why he brings the 102 instead of the 1"p according to n9oN.

2 A o7 ,av is one who was 21 from his 7% and is waiting for nightfall in order to eat 77n. A 2 2120 makes
what he touches into a *w>>w (by 7m19n), and a v 9120 is 7702 MOK; he can therefore definitely make a wpa "w>hw
which is stricter than 7.
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* The X1 of a *w W is that it is 9109 by 7m0 (but it cannot make a °¥°27), therefore we will invoke 1°7 that by w1p
a w7 is 7109 but cannot make a °y>37 (just like by m211n). See previous 721 1"7 'own (TIE footnote # 4).

5 Mmoo however maintains (in 711 7"7) that since we can derive wTP2 "¥°27 through a 13°¥» 71 we do not invoke 17
(even according to the a°nam). w"y.

® If we invoke 17 that there can only be a wTp2 *w*>w then the 1"p is meaningless for we know already a WP “Ww*Hw
from a p10o. See ‘Thinking it over’.

" This is the view of v who maintains 1"p 779°7 83°71 we do not invoke 7. However, the 0°»o1 maintain that even
if 1" 779°1 nevertheless 177 170K,

¥ See X"wmn.
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